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Al 180,714 201,097 A 20,383
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= 95,000 95,000 0
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Al 52,372 82,372 230,000
T Hl 905,941 918,941 A 13,000
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= 70,000 70,000 0
Al 35,000 35,000 0
T Hl 686,120 692,320 A 6,200
CHiHZE B2 422+ 22 247,020 253,220 26,200
201 224l 134,361 139, 361 A5,000
02 3324l 99,275 104,275 A5,000
OdIlz 45,000 50,000 A5,000
201 & & 35,000,000& 35,000 40,000 A5,000
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O+=&2Zst&X L EHA 2E 0& 0 1,200 A 1,200
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OZAt==E 7,500 10,500 A 3,000
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Zaety 2tel 12,236 16,036 A 3,800
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FsaEd A& 12,236 16,036 A 3,800
201 24l 12,236 14,736 A 2,500
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Og=AHYI 2L X
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AlH 6,017 0 6,017
T Hl 10,400 12,900 A 2,500
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1 HI 91,800 88,200 3,600
FEEM ¥ XA 134,650 127,450 7,200
AlH 67,325 63,725 3,600
T Hl 67,325 63,725 3,600
301 Lt a = 134,650 127,450 7,200
AlHl 67,325 63,725 3,600
T Hl 67,325 63,725 3,600
12 JIEE2 43 134,650 127,450 7,200
OFfRd=EsM &8s XN& 2 & 134,650,000 134,650 127,450 7,200
Al 67,325 63,725 3,600
T Hl 67,325 63,725 3,600
HY2LIH (222 1) 332,855 330,605 2,250
ol 2| 311,363 309, 113 2,250
A2 311,363 309,113 2,250
101 14l 311,363 309,113 2,250
02 JIEtE B = 304,293 302,043 2,250
OYxXEs I FJFZ(3Y) 146,411 144,161 2,250
elAHl BE=2 2,250,000 2,250 0 2,250




